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QUESTION 1

Which option lists Virtual Cloud Networks (VCNs) that can be peered?
A. VCN A (172.16.0.0/24) and VCN B (172.16.0.0/28)

B. VCN A (10.0.0.0/16) and VCN B (10.1.0.0/16)

C. VCN A (10.0.2.0/16) and VCN B (10.0.2.0/25)

D. VCN A (10.0.0.0/16) and VCN B (10.0.16.0/24)

Correct Answer: B

QUESTION 2

In which language are Terraform and Terraform providers written?
A. Python

B. Go

C.C

D. Ruby

Correct Answer: B

References: https://www.terraform.io/docs/extend/writing-custom-providers.html

QUESTION 3

You have deployed a compute instance (VM.Standard2.24) to run an Oracle database. With this set up, you run into
some performance issues and want to leverage an OCI Dense 10 shape (VM.DenselO2.24), with which you get 25.6 TB
local NVMe SSD. You do not want to lose the configuration changes you made to the instance. Which of the following
TWO steps ARE NOT required to make this transition?

A. Terminate the VM.Standard2.24 instance and do not preserve the boot volume

B. Create a new instance using the VM.Dense102.24 shape using the preserved boot volume and move the Oracle
Database data to NVMe disks

C. Terminate the VM.Standard2.24 instance and preserve the boot volume

D. Create a new instance using a VM.DenselO2.24 shape using the preserved boot volume and move the Oracle
Database data to block volumes

Correct Answer: AD
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You can permanently terminate (delete) instances that you no longer need. Any attached VNICs and volumes are
automatically detached when the instance terminates. Eventually, the instance\\'s public and private IP addresses are
released and become available for other instances. By default, the instance\\'s boot volume is deleted when you
terminate the instance, however you can preserve the boot volume associated with the instance, so that you can attach
it to a different instance as a data volume, or use it to launch a new instance. Dense I/O Shapes Designed for large
databases, big data workloads, and applications that require high-performance local storage. DenselO shapes include
locally-attached NVMe-based SSDs. so once you create the VM.DenselO you need to moce the Database to locally-
attached NVMe-based SSDs

QUESTION 4

Which two components cannot be deleted in your Oracle Cloud Infrastructure Virtual Cloud Network? (Choose two.)
A. Service gateway

B. Default security list

C. Routing gateway

D. Default route table

E. Default subnet

Correct Answer: BD

Reference: https://www.oracle.com/a/ocom/docs/vcn-deployment-guide.pdf (4)

QUESTION 5

What does Terraform use to create, manage, and manipulate infrastructure resources?
A. resources

B. provisioner

C. instances

D. provider

Correct Answer: D

The Oracle Cloud Infrastructure provider is used to interact with the many resources supported by the Oracle Cloud
Infrastructure. The provider needs to be configured with credentials for the Oracle Cloud Infrastructure account.
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